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* Please write down the Serial Number of the question before attempting it.

* 15 minute time has been allotted to read this question paper. The question paper will be
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Instructions :

1. All questions in both the sections are compulsory.

2. Marks for questions are indicated against each question.

3. Question No. 1-3 and 15-19 are very short answer questions
carrying 1 mark each. They are required to be answered in one
sentence.

4.  Question No. 4-8 and 20-22 are short answer questions carrying
3 marks each. Answers to them should not normally exceed 60
words each.

5. Question No. 9-10 and 23-25 are also short answer questions
carrying 4 marks each. Answers to them should not normally
exceed 70 words each.

6. Question No. 11-14 and 26-29 are long answer questions
carrying 6 marks each. Answers to them should not normally
exceed 100 words each.

7. Answer should be brief and to the point and the above word limit

58/1/3

be adhered to as far as possible.



s A
SECTION A
1. & 3udRE 6 o7 et B @ ufean awg & Fima-ai1 9% T I8 g9 gl

2 (udt faered gfu) 1
(a) =t TR fagerar® |
(b) =Tt oTR Rawerar 2 |
(c) T sk T FHIT hl 37T T BT 2 |
(d) | as® WA= Y 3R T Bar 2 |

When income of the consumer falls the impact on price-demand curve of

an inferior good is : (choose the correct alternative)
(a) Shifts to the right.

(b) Shifts to the left.

(c) There is upward movement along the curve.

(d) There is downward movement along the curve.

2. 3fe Himia wioeemm & R fer ', 9t sHftmm 3% « (T fase gf) 1
(a) x-3T1& & UM &I
(b) =Y 3R g4t sraae B |
(¢) T &Y iR Terat Ioa B |
(d) F= F A gat def @ aEm |
If Marginal Rate of Substitution is constant throughout, the Indifference
curve will be : (choose the correct alternative)
(a) Parallel to the x-axis.
(b) Downward sloping concave.
(c) Downward sloping convex.

(d) Downward sloping straight line.
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3. oere Be Y gitarsy difsie |
Define Budget Set.

4. T YE R T s a1 1 stoferawen & Ieqted HareT
Tk T FIT YT TSI 3R = ?

HIAT

a1 AT § et dSft % et ST W srdfeaTe % IeuTed HTEAT 95 W
TS T Y HHTEAT @ 3R i ?

-

What will be the impact of recently launched ‘Clean India Mission’
(Swachh Bharat Mission) on the Production Possibilities curve of the

economy and why?

Or
What will likely be the impact of large scale outflow of foreign capital

on Production Possibilities curve of the economy and why?

5. U USRI A HH1 1 qeeqr fsiar fasrydr gagmu |

Explain the feature ‘interdependence of firms’ in an oligopoly market.

6. ‘Iay shima Hmn fFeir’ 3 Rt S % SR W TS 9Tl YeTE THeET |
© @t w1 39T i |

Explain the effects of ‘maximum price ceiling’ on the market of a good?

Use diagram.

e gie At udrernioEi o forg wge S 6 % T W)
ShiTa a1 & w1 AT 2 ? Aferehay dhima g Fei & g9 Jmeni’ |
For the blind candidates only in lieu of Q. No. 6.

What is price ceiling? Explain the effects of maximum price ceiling.
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7. U G a1 Higd i el % 91 RO-F8 (minus sign) 21 81 2
<&t foh shiHa qfd @< o w1 99 -T% (plus sign) | THET @41 ? 3

The measure of price elasticity of demand of a normal good carries
minus sign while price elasticity of supply carries plus sign. Explain
why?

8. U Fard gu Fefafiaa aifosn W snatf@ seared dvmEdt 9% & SR W

Teuft Shifere - 3
a5 X (397%) &g Y (3T
0 20
1 18
2 14
3 8
4 0

Giving reason comment on the shape of the Production Possibilities

curve based on the following schedule :

58/1/3

Good X (units) Good Y (units)
0 20
1 18
2 14
3 8
4 0

[P.T.O.



9. T INIH T a%g W Rrehi fimd 4 5. ufd 36 R, 100 & = F@T R |
S& #md 50 ufawra e St 2 a1 oft 98 9% W 100 %. € =9 Har 2 |
wferera fafer gra dima -9t & 3ma <hifs |

A consumer spends Rs. 100 on a good priced at Rs. 4 per unit. When
price falls by 50 per cent, the consumer continues to spend Rs. 100 on

the good. Calculate price elasticity of demand by percentage method.

10. &vra < ufeyrer S| digiq @ R oftea afad] are & St g9y
FAT3T |

HYar

YT (ATM) 1 gieamsT e | dmid gy 37 Hd 99Tty & s g9y
FATET |

Define cost. State the relation between marginal cost and average

variable cost.
Or

Define revenue. State the relation between marginal revenue and

average revenue.

11. uftad! sgurdt & o § a1 3oure 3 Hmia 3came | 8 ardt aitEaHl
frfirer wroT e | 3% e ) e oft framsu |
State the different phases of changes in Total Product and Marginal

Product in the Law of Variable Proportions. Also show the same in a

single diagram.

haet ZiE anfera adternierat o fore wom |t 11 % FE W |
U AT IATEA o TR W aiad! sigamdt & fFm § $a I @ik

HHTd 3caTe | B4 It fafsTe <o s|msu |
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For the blind candidates in lieu of Q. No. 11 only.
State, on the basis of a numerical example, different phases of
changes in Total Product and Marginal Product in the Law of Variable

Proportions.

12. U 9% 1 AR Gged | @ | a5 i gfd & ‘Fhg’ &1 91t 2 | 39 ufEda &
0T B T THTET shl AT THTET | ' 6
Market for a good is in equilibrium. Supply of the good ‘increases’.
Explain the chain of effects of this change.

13. T IUHRAT hadl & FEGet X 3R Y T UG HAT 2 | I shl SR HHd
3 %. gfd 3 B | AR IudihT 39 Q Sxqaeli & TH HA AT GG HLT 2
foraeht wmia afoeemom 2t 3 2, Y & IusIhT Tge | 2 7 i difse | o
feafa & wan forareht 3usiiehT R M ? FHEET | 6

HYAT

T IUHRE had & aEgell X 3R Y H 399 Far @ SR Fma
FUI: 4%, 3 S . Ufd 31 2 | AT IJUIRAT QI aeqatl ol UHT A1 A1
? i X &t dmfa swifiar 5 ot Y fft diniq swifian 4 2, @ =0
YR S | & 7 FRon e | vt feufa | v faaedht 3uaieer 9o e
IuIfiaT foveryor &7 U I |

A consumer consumes only two goods X and Y both priced at Rs. 3 per
unit. If the consumer chooses a combination of these two goods with
Marginal Rate of Substitution equal to 3, is the consumer in
equilibrium? Give reasons. What will a rational consumer do in this
situation? Explain.

Or
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14.

15.

A consumer consumes only two goods X and Y whose prices are Rs; 4
and Rs. 5 per unit respectively. If the consumer chooses a combination
of the two goods with marginal utility of X equal to 5 and that of Y
equal to 4, is the consumer in equilibrium? Give reasons. What will a

rational consumer do in this situation? Use utility analysis.

w1 et wH <t Tge 1 fufs & foe dwia o it diafa gwfy
(HATH) | FHEA A 2 7 1 AE T GHTad i % foe waiw 2 7
TR |

Why is the equality between marginal cost and marginal revenue
necessary for a firm to be in equilibrium? Is it sufficient to ensure

equilibrium? Explain.

@ET
SECTION B

I 91 qEaq WA W, I TR 3 § foeEh gz ) diva aedt @ 9 w94
trgﬂjm:(wmcr‘gﬁq)
(a) ® gfg Al GuraaT a8
(b) Fire <6 G et 2
(c) g EM 3t i St Gorraamd areft &
(d) T HE v T B

58/1/3 - 8



Other things remaining unchanged, when in a country the price of
foreign currency rises, national income is : (choose the correct

alternative)

(a) Likely to rise

(b) Likely to fall

(c) Likely to rise and fall both

(d) Not affected

16. TERI a5 | w0 @ iy : (e fawea gi) 1
(a) TSI 910
(b) TSN =TT
(c) Smefireh e
(d) =T H =men
Borrowing in government budget is : (choose the correct alternative)

(a) Revenue deficit
(b) Fiscal deficit
(c) Primary deficit

(d) Deficit in taxes
17. F=fafaa 8 R 7o 98 2 - (9 fashen giw) 1

(a) Tarfa e

(b) 3ATITG Y[k
(c) @I

(d) 3cqTEH I[e<h
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The non-tax revenue in the following is : (choose the correct alternative)
(a) Export duty

(b) Import duty

(c) Dividends

(d) Excise

18. ufy v ¥ “gmw smufd @ W aRmmE R 7

What is ‘aggregate supply’ in macroeconomics?

19. 79T %1 qed T€ BT B : (T foreew gh)
T

© e

© 1—mnﬁ;aauqﬁr
H‘\ﬁamﬁ;ﬂ‘;@ﬁr—l

(a)

(d)

The value of multiplier is : (choose the correct alternative)
(a)

(b)

(©)

(d)

58/1/3 10



20. T % 3 foga M & AW a1y ST P Hqed o & Gt orar
7 st foran ST R | 3
roran
T & A fowga ot & A9 FaEe et Jrae SeH o % = dar
# oot fora STan 2 |

Name the broad categories of transactions recorded in the ‘capital

account’ of the Balance of Payments Accounts.

Or

Name the broad categories of transactions recorded in the ‘current

account’ of the Balance of Payments Accounts.

21. fRwi * w39 ST PIOW Gqe @ ® el g9 fRar STwm? Hw
AT | 3

Where will sale of machinery to abroad be recorded in the Balance of

Payments Accounts? Give reasons.

22. 3fe arafass e 23fiF 3dTE 300 %. B 3T fifgs et 23 3a0TE 330 .
Bt Siud gl (STTUR = 100) T HIT | 3

If the Real GDP is Rs. 300 and Nominal GDP is Rs. 330, calculate Price
Index (base = 100).

23. T & H 9N GRR 3 SH-99 QST e S 32w @ R uls
9fE 1 &H @ &9 Tk ok Qa1 8l | GHETET foh 39 A1 & 3Tariq ot i
STTE <971 <At TERT T Rt K qaTfaa shirft | 4
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24,

25,

Government of India has recently launched ‘Jan-Dhan Yojna’ aimed at
every household in the country to have at least one bank account.
Explain how deposits made under the plan are going to affect national

income of the country.

T refatyn oge | ¢ | frefefaa @ Hata sus st g i
T A™ = 2000
A 399 = 400

e = =200

An economy is in equilibrium. Find Marginal Propensity to Consume

from the following :
National income = 2000
Autonomous consumption = 400

Investment expenditure = 200

Rl S I SRl sSoh T GHTIT |
gat

ST ek T GLHR F1 Sk w1 THITET |

" Explain the ‘bank of issue’ function of the central bank.

Or

Explain ‘Government’s Bank’ function of central bank.

26. TG 7T ) TR U | T9H FH A H IAEE A (Repo

Rate)ﬁ‘ﬂﬁmﬁm?ﬁﬁ'ql

AT
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217.

28.

HUEHIfqepTl 37T sl FFURON FHHATRY 3TN 38 F0 FH § G IR & |

FRiwaTdl < Jfirht it saTE Hife |

Explain the concept of Inflationary Gap. Explain the role of Repo Rate

in reducing this gap.
Or

Explain the concept of Deflationary Gap and the role of ‘Open Market

Operations’ in reducing this gap.

IIe % AT § GEIGH o AEeA HI TG A § TLHR hl Jfieht it
T HIfT |

Explain the role the government can play through the budget in

influencing allocation of resources.

U FATG BT FHATEY, Toh T 1 1 9T A ° Ffaiaa % e w®an
er feman ST =nee -

(i) HH T STEE STHISeE hl FIF < WY

(i) %9 3T T R T T

(iii) %9 g G 39 % o0 B9 F1 F

Giving reason explain how should the following be treated in estimation

of national income :
(i) Expenditure by a firm on payment of fees to a chartered accountant
(i) Payment of corporate tax by a firm

(iii) Purchase of refrigerator by a firm for own use

58/1/3 13
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29. ‘Tred ard W fad s 37’ au geha TP YAIST IR Fd Hhifog ;

(g %.)
(i) | forgert =t Frae =], gxaiaTr 15
(ii) | =it 3tfc Sasim == 800
(iii) | faret stmmd (-) 20
(iv) | Free efta it fmfor 100
(v) | forett =t Foraret e o1 10
(Vi) | 3 B 50
(vii) | €2k § uftadH 17
(viil) | Y& AT 120
(ix) | Feert 3ifaw Suvm == 200
(x) | fria 30

58/1/3 14



Calculate ‘Net Domestic Product at Factor Cost’ and ‘Gross National

Disposable Income’ :

(Rs. crores)

(1) | Net current transfers to abroad 15
(i1) | Private final consumption expenditure 800
(iii) | Net imports (-)20
(iv) | Net domestic capital formation 100
(v) | Net factor income to abroad 10
(vi) | Depreciation 50
(vii) | Change in stocks 17
(viii) | Net indirect tax 120
(ix) | Government final consumption expenditure 200
(x) | Exports 30

58/1/3 15



SENIOR SCHOOL CERTIFICATE EXAMINATION

MARCH-2015

MARKING SCHEME — ECONOMICS (DELHI)
(SET - 1)

Expected Answers / Value Points

GENERAL INSTRUCTIONS :

1. Please examine each part of a question carefully and then allocate the marks
allotted for the part as given in the marking scheme below. TOTAL MARKS
FOR ANY ANSWER MAY BE PUT IN A CIRCLE ON THE LEFT SIDE WHERE THE
ANSWER ENDS.

2. Expected suggested answers have been given in the Marking Scheme. To evaluate
the answers the value points indicated in the marking scheme be followed.

3.  For questions asking the candidate to explain or define, the detailed explanation
and definition have been indicated alongwith the value points.

4. For mere arithmetical errors, there should be minimal deduction. Only % mark be
deducted for such an error.

5. Wherever only two /three or a “given” number of examples / factors / points
are expected only the first two /three or expected number should be
read. The rest are irrelevant and must not be examined.

6. There should be no effort at “moderation” of the marks by the evaluating
teachers. The actual total marks obtained by the candidate may be of no
concern to the evaluators.

7. Higher order thinking ability questions are assessing student’s understanding /
analytical ability.

General Note : In_case of numerical question no mark is to be given if only
the final answer is given.
. Distribution
A
3 Expected Answer / Value Points of Marks
1 | (a) Shifts to the right. 1
2 | (d) Downward sloping straight line 1
3 Given income and prices, the budget set consists of all the possible 1
combinations of the two goods which the consumer can afford.
4 | Cleanliness reduces chances of people falling ill and, thus can ensure better
health. This in turn will reduce forced absenteeism from work, raise efficiency 3
level and thus raise country’s production potential. Rise in this potential shifts
PP curve to the right. (Diagram not required)

Pg. 1



OR

Large scale outflow of foreign capital from the economy will reduce resources
and thus production potential of the country will fall. Fall in production
potential in turn will shift the PP-Curve downwards.

3
(Diagram not required)
The feature implies that when a producer, in an oligopoly market, takes
decision about price or output, he takes into consideration the likely reactions 3
of the rival producers. For taking decisions, thus, a producer in an oligopoly
market is dependent on other producers.
Y
Price
S
A
PR | L e oace 8___ Ceiﬂ(ng
| I N\p 1
. !
o Q; QL Ql\l_ .
Maximum price ceiling refers to imposition of upper limit on the price of a good
by the government. For example, in the diagram OP is price ceiling while
equilibrium price is OP;. At this price the producers are willing to supply only PA
(Or 0Q;) while consumers demand PB (Or OQ;). The effect of the ceiling is that 2
shortage, equal to AB (Q1Q,), is created, which may further lead to black
marketing.
For blind Candidates Only :
Price ceiling means putting the upper limit by the government on the price that 1
can be charged by the producers of a good from the buyers.
Maximum price ceiling, is lower than equilibrium price, leads to rise in demand
and fall in supply. This creates shortage of the good in the market. This may 2
lead to black marketing.
The measure of price elasticity of demand has a minus sign because there is
inverse relation between price and demand of a normal good, while the 3
measure of price elasticity of supply has plus sign because there is direct
relation between price and supply of a good.
Good X Good Y
. ] MRT
(Units) (Units)
0 20 -
1 18 2Y:1X
2 14 4Y:1X
3 8 6Y:1X
4 0 8Y:1X 1%
Since MRT is increasing, PP curve will be downward sloping and concave to the 1%

origin.

(Diagram not required)

Pg. 2



9 Price Exp. Demand
4 100 25 1%
2 100 50
P _ AQ
_ 3
257 2 1
= =2 A
(No marks if only the final answer is given)
10 | Cost in economics refers to the sum of actual money expenditure on inputs and 1
the imputed expenditure in the form of inputs supplied by the owners including
normal profit.
If MC < AVC, then AVC falls
If MC = AVC, then AVC is constant 3
If MC > AVC, then AVC rises (Diagram not required)
OR
Revenue in Economics refers to the market value of output produced Or
receipts from sale of output produced. 1
If MR > AR, AR rises
If MR = AR, AR is constant
If MR < AR, AR Falls. (Diagram not required) 3
11 The Phases are :
Phase : I TP rises at increasing rate i.e. upto A in diagram.
MP rises i.e. upto ‘@’
Phase : Il TP rises at decreasing rate i.e. between A and B. MP falls and
remains positive between ‘a’ and ‘b’.
Phase : lll TP falls i.e. after B. MP falls and is negative i.e. after ‘b’ 1x3
Y
TP
3

(Diagram on single axis is also correct)

Pg. 3



For blind Candidates Only :

Variable input TP MP
(Units) (Units) (Units)
1 6 6
2 20 14
3 32 12 Or any other
4 40 8 relevant
s 40 : numerical
example
6 37 -3
Phases :

(1) TP increases at increasing rate and MP rises upto 2 units.

(2) TP increases at decreasing rate and MP falls but remains positive from 3
to 5 units.

(3) TP falls and MP becomes negative from 6 unit onwards.

12

- Given equilibrium, supply ‘increases.’

- Price remaining unchanged, excess supply emerges.

- Excess supply leads to competition among sellers causing price to fall.

- Fall in price causes rise (expansion) in demand and fall (contraction) in supply.
- These changes continue till the market is in equilibrium again at a lower price.

(Diagram not required)

13

Given Px =3, Py =3 and MRS = 3, A consumer is said to be in equilibrium when

Substituting values we find that
3> 3
3
i.e. MRS > =%
P

y

Therefore consumer is not in equilibrium.

P N .
MRS > P—x means that consumer is willing to pay more for one more unit of X as
y

compared to what market demands.
- The consumer will buy more units of X.
- As aresult MRS will fall due to the Law of Diminishing Marginal Utility

L i . P . _
- This will continue till MRS = P—x and consumer is in equilibrium
y

(Diagram not required)

Pg. 4



OR

Given P, =4,P,=5and MU, = 5, MU,, = 4,a consumer will be in equilibrium
when

MU, MU,

P, B

Substituting values, we find that
S0t op MU MUy

4 5 Py Py

Since per rupee MU, is higher than per rupee MU, , consumer is not in
equilibrium.

The consumer will buy more of X and less of Y. As a result MU, will fall and

- . . . . MU MU.
MU,, will rise. The reaction will continue till —xandp—y are equal and consumer
X y

is in equilibrium.

14

The producer’s equilibrium conditions are : (i) MC = MR and (ii) MC > MR after
equilibrium.

Suppose MC > MR. In this situation it will be profitable for the firm to produce
more or less depending upon relative changes in MC and MR till MC = MR.
Suppose MC < MR. It will be profitable for the producer to produce more till MC
= MR.

MC= MR is not a sufficient condition to ensure equilibrium. Given MC = MR,
suppose the behaviour of MC and MR is such that if one more unit is produced.
MC becomes less than MR.

Then in this case it will be profitable for the firm to produce more. Therefore,
in this case though MC = MR the producer is not in equilibrium. However, if
after MC = MR output MC becomes greater than MR, it will be most
advantageous for the firm to produce only upto MC = MR.

(Diagram not required)

SECTION -B

15

(a) Likely to rise

16

(b) Fiscal deficit

17

(c) Dividends

18

Aggregate supply is the value of total quantity of final goods and services
planned to be produced in an economy during a period.

19

(b) ——

MPS

Pg.5



20 (1) Borrowings from and to abroad
(2) Investments from and to abroad. 1x3
(3) Decreases and increases in foreign exchange reserves.
OR
(1) Exports and imports of goods
(2) Exports and imports of services
(3) Factor income receipts from abroad and payments to abroad. 1x3
(4) Transfers from and to abroad.
(Any Three)
21 . . . 1%
Sale of machinery to abroad is export of goods and thus recorded in the
Current Account.
Sale of machinery to abroad brings in foreign exchange and thus recorded on 1%
the credit side. (No marks if the reasons are not given)
22 Real GDP Nominal GDP % 100
ea =
Price Index 1%
300 = —— x 100
Price Index 1
Price Ind 330 x 100 110 %
rice Index = ————— =
300
(No marks if only the final answer is given)
23 - Opening more bank accounts means more bank deposits.
- More deposits means increase in the lending capacity of the commercial
banks. 4
- More lending by banks means more investment in the country.
- More investment means more national income.
24 Y=C+MPC(Y)+1 1%
2000 = 400 + MPC(2000) + 200 2
MPC = 2000 — 400 — 200 0.7
B 2000 B Y
(No marks if only the final answer is given)
25 The central bank is the sole authority for the issue of currency in the country.
It promotes efficiency in the financial system. Firstly, because it leads to 4
uniformity in the issue of currency, Secondly, because it gives Central Bank
control over money supply.
OR
The Central Bank acts as a banker to the government. The central bank
accepts receipts and makes payments for the government and carries out
exchange, remittance and other normal banking operations for the
4

government. The central bank manages public debt and also lends to
government.

(To be marked as a whole)

Pg. 6



26

The Inflationary Gap is the amount by which the aggregate demand exceeds
aggregate supply at the full employment level. It is called inflationary because it
leads to rise in price level.

Repo Rate is the rate of interest at which central bank lends to commercial
banks for a short period. When central bank raises Repo Rate, the borrowings
by the commercial banks become costly. This forces the commercial banks to
raise their lending rates. People borrow less, and therefore spend less. This
helps in reducing inflationary gap.

(Diagram not required)
OR

Deflationary Gap is the amount by which the aggregate demand falls short of
aggregate supply at the full employment level. It is called deflationary because
it leads to a fall in price level. (Diagram not required)

Open Market Operations refer to buying and selling of government securities
by the central bank in the open market. Central bank can reduce deflationary
gap by buying securities. Those who sell receive payments by cheques from the
central bank. The money flows out from Central bank into the commercial
banks. This raises lending capacity of commercial banks. Banks lend more.
Spending rises which reduces deflationary gap.

27

Government can influence allocation of resources by influencing market
mechanism through taxes, subsidies and direct participation in production.
Heavy taxes can be imposed on production units engaged in producing harmful
products like liquor, cigarettes etc. Tax concessions and subsidies can be given
to encourage production of products useful for the masses. Government can
directly produce goods and services normally ignored by the private sector due
to lack of enough profits.

(To be marked as a whole)

28

(i) Payment of fees to chartered accountant by a firm is intermediate cost
to the firm and, therefore not included.

(ii) Payment of corporate tax by a firm is a transfer payment and thus not
included.

(iii) Purchase of a refrigerator by a firm for own use is investment
expenditure and thus included. (No marks if reason is not given)

29

NDP¢. = ii + ix + iv — iii — viii
=800 + 200 + 100 — (—20) — 120
= Rs.1000 Crore

GNDI = NDPfC +vi—v+viii—i
=1000+50—-10+120—-15
= Rs.1145 Crore

(No marks if only the final answer is given)

Pg.7
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